
Twenty Second Russia Team Open, High School Programming Contest
More than 50 locations in Russia and other countries, December 12, 2021

Problem A. Natives
Time limit: 1 second
Memory limit: 512 megabytes

Captain Cook and his team were captured by island natives. Not to be eaten, the adventurers must give
some treasures to natives. It turned out that the captain has n treasures.

Chieftain of the natives agrees to let the captain and his team go, if they give him at least half of his
treasures. All treasures look pretty to him, so the chieftain agrees to get any treasures, he only wants to
get at least half of them.

But actually each treasure has its own value known to Cook. The value of the i-th treasure is ai. Help the
captain to decide which treasures he should give to the chieftain so that the total value of the treasures
he keeps to himself is maximum possible.

Input
The first line of input contains integer n (2 ≤ n ≤ 1000).

The second line contains n integers a1, a2, . . . , an (1 ≤ ai ≤ 1000).

Output
Output one integer — the maximum possible total value of treasures that the captain can keep for himself
after he gives at least half of his treasures to the natives.

Example
standard input standard output

6
2 4 1 3 3 5

12

Note
In the given example Cook can give treasures with values 1, 2 and 3 to the chieftain keeping treasures
with values 3, 4 and 5 to himself. Their total value is 3 + 4 + 5 = 12.
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